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Transversals, Trapezoids, & Parallelograms. Form A

1. Inthe figure below, line s is parallel to line t, and line p is a transversal crossing both lines

s and t. What is the measure of £A? i f:\é e n 3r€r\‘,or

anglt 5 are supplementary

i 0 1 v

(A) 150° / WO v\j\eq NS they a )P
(B) 140° 2 8 o 80
(C) 130° '
(D) 120° 40 . 50)
(E)y110° / HD%/_\;\&O

A= 1§o-40=\10

2. In the figure below, line s is parallel to line t, and line p is a transversal crossing both lines

s and t. What is value of x? A \-%grr\q*& ‘mrerof O\V\S\k >
p\ afe e,o\\ux\ Yo eadn other
50
60° ° S ,
(A) 6 8 x-4= o0
28 (8v—4y _ &1, &
(C)12 Ex= Eac

t
(0) 4 T s
(E)O \ b 8 8

3. In the figure below, line s is parallel to line t, and line p is a transversal crossing both lines
s and t. What is value of y?

P
(A) 150° 5(%\
(B) 140° S
((C)130°) y

D) 120° y

( t
(E) 110° \

Soty= 100
Fj:: ‘1’50
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4. In the figure below, line s is parallel to line t, and line pis a transversal crossing both lines

s and t. What is the value of x? S aAame. 5\C€, \Y\X&F\ of
| ° Bx-{)tx =80

(A) 46 en sl

(B) 50 . Hx='80%]

(C) 36 (3x = 4)° yx=\8Y4

(D) 20

(E) 180 x° AN— LUa

5. In the figure below, line s is parallel to line t, and lines p and g are transversals crossing é
both lines s and t. What is value of z? \ O A a{\c\ X afe Same o de
s 50 !

q 2 < ' ;
(74 : 2 )x and y are Vecheal 50
(B) 50 ' =1
(©)17 (40P ) 3=
Tt Gt w3
afe. Samd Sido
106° \n«\("/f‘\o 20
¢ ’ p V)
(‘f%-ﬂo)‘Fﬁ‘"

Yp= 180-80=100
=<5

6. In the figure below, line s is parallel to line £, and lines p and q are transversals crossing

both lines s and t and creating a triangle. The measures of angles are as marked. What is
value of B — A?
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| ade_
(A) 80° 20 and k. are. alrern?
(B) 60° ‘ p injenere 50 x=CO
M Same. for boand Y
(D) 120° /0% ° 50 34.\66
(E) 60° X and A\ afe yerhcal

Mand & are Nerhea
5 B=ITE0 4 p=f0-20
= ]
7. Inthe figure below, line s is parallel to line t, and lines p and g are transversals crossing t
both lines s and t. For y = 20°,and z = 60°. What is value of x?

X+ 20+60=180
xX=180-80=100

(B) 80°
(C) 45°
(D) 120° - _ s
(E) 110° Alternane- '
\“\ \"Qf‘\\(}‘rb
S o) e ‘} Wiy

8. In the figure below, line s is parallel to line t, and lines p and g are transversals crossing
both lines s and t. The measures of angles are as marked. What is value of x?

vl L AWNE_
\49 and j are. S

(A) 31° Side. jnveriors |
a4y = 180

(D) 181° s Y= 3|
(E) 110° / 1490\\ J |
I : 214+ X= 180
/ £ )(:: l8© “53
q § = Wj
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9. In the figure below, line s is parallel to line t, and lines p and g are transversals crossing
both lines s and t. The measures of angles are as marked. What is value of x?

HTe-
@ 125 Om\ e\oly

q p Sam< 5)\ée_ i
3
(A) 55° \ / " yrlzs =60
S
(B) 165° 1250 j: 55
3 am

(D) 100° ol 85

(E) 195° “’ 400 @

/N0
80«85

10. In the figure below, line s is parallel to line t, and lines p and q are transversals crossing
both lines s and t. The measures of angles are as marked. What is value of x?

e 1095 are
N&e(r\n‘\?— \Y\\ex\\cﬁ‘ﬁ

q p
(A) 42° \ / .
(B) 57° A
(D) 75°
(E) 105° 105°

// \\ XIS YT,
A= g0 =07
= &3

11. In the isosceles trapezoid ABCD below, ABis parallel to DC. The measures of angles are
as marked. What is value of x? \

of "‘“\j\P‘j al?- Q(\U\, d
+  votom anles af& e,r\&
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60"%3:: \a O el

Same s\de e

(A) 140° s ang s
(B) 108° el )

(C)102° - : o
(D) 60° SO0 X=120 oSN

Lop angles o f spsctes

Frape20,d areequed

C(E)120° )

12. In the trapezoid ABCD below, AB is parallel to DC. The measures of sides are as marked

ininches. What is the area of the trapezoid in square inches? f
\(\: q >/ el
St We have '
§.r‘\c|vx5\f'—
A5 B orsq} > S
— : ’\
(A) 22.5 . =  BFET"
i ' o A
(B) 50 vl ) \n —
(C)64 i L \S W=
(D) 20 ) ' \
3 l’  rog : 3 P\ 9-::\:_2_‘ RL\
11 = =Xy = 3%
¥ 3
13. What’s the area of a trapezoid of a height of 2x, and the small and large bases are 2x
and 4x respectively. n A
v
2
(#) 16x A= oxb |,
(B) 12x?2 2 \
(©6x2 ) bawl4%) oy s &
e = QX 7% /Zﬂ&
(E) 3242 Z |

,‘ 7
s X -
— éz,‘ X = bX

14. What’s the perimeter of an isosceles trapezoid of a leg length of 2x, and the small and
large bases are 2x and 4x respectively.

... B
(A) 16x i); X ¥ TX XX X “ X 2 X T X
(B) 8x . |
(C) 20x — 10X
(D) 10x ) s el
(E) 5x 1%
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15. In the ABCD parallelogram given below, the lengths are all in miles. What is the area of
the parallelogram in square miles?

o> A=bh D2

— S1is=20
(B) 130 A 3
(C) 180 r
(D) 260 A,Qi>@®:7%0
(E) 30 13 -
12’;.\\/\ ‘
D : C
5 15

16. In the ABCD parallelogram given below, the lengths are all in inches. What is the area of

the parallelogram in square inches? /A\”: \j\q ‘
(A) 240 A B N \}
(B)168) o= 6% ( /|
2
o Y ne et
(E) 75 W= k
D 5 C h=156

17. In perimeter of the ABCD parallelogram given below is 50 inches. What is the length in

inches of side DC? .
m+xﬂ0fx’50

(A) 35 " |
1 — 2 x ¥20 =20
10 = > 0
4 AR
(E)75 X = 19
D )< C
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18. The parallelogram below is shown in the standard (x, y) coordinate plane with the
vertices as indicated. What is the area of the parallelogram in square units?

(A) 35 y \(\: T1-3=Y .
(B) 24 hi=—= =0
(C) 12 e \x’)\’\
(D) 15 A =94
L &7 (14,7) =35

s

\h

\

(0,3) ! (9.3)
X

19. The parallelogram below is shown in the standard (x,y) coordinate plane with the

vertices as indicated. What is the perimeter of the parallelogram insetare-tnits?

(A)12 y
(C) 49
(D) 21
(E)9

(=33)

Xy 9)

(o)

Can S0\Ue Ve for X
%‘Q'Ome'\“f‘ﬁ b/ '
L\ LY
oy stan C& q%(mvx\”\ o frnd
VO /—\“w {L

Xt \'A.L

(5%

/ : ;
= TS+ S i/\/g
= 10x\4="1Y4
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20. The parallelogram below is shown in the standard (x, y) coordinate plane with the

vertices as indicated. What is the v

area of the parallelogram in Base = e—’@
square units? or C-C9

CcAAa
(A) (C + a)(d - b) (0,d) ed) \3‘ Q‘\S\/\k;_ c\-—‘b

(B)3 (c + a)(d - b)

(C) (c — a)(d — b) _tah

o “b
) (e +a)(d+b) . op = Cexo) (-8
(E);(c—a)(d—Db)

iLE
14, E
13.C
14.D
15.A
16.B
17.D
18.E
19.B
20.A
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o
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